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FLLt - =X 1 85, 389, 928
LT = 1 3,257, 168
HRHEI T = 1 352,800 | #iHH! 1, 000 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
Bt = 1 278,761 | &K (BLtd) ik © 3 m3
2. 5mPL 4. OmARTi ;
EuNE R 1,100 m3
4. 0mPL E
Rkt A = 1 1,918,683 |{EmEIEE (G)LE0) 2, 040 m2
BRI v+ R O + kit
T (B ) 450 m2
T i S O I BRI
P v T = 1 706,924 | 1 =
B O-27)
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
LR L 2 1 49, 733, 430
e+ T 2 1 908, 631 |FRIEY 1 X
+4)
HEL 1 2V
FLE e 1 =
ayy)=b7" my) T (RE77 1y 3E) = 1 21,033, 687 | BT Hesav -} 201 m
18-8-40 (F47) JEIE 55cm /& & 50cm ;
BUEFT/ A 1kay)) -} 1 &
18-8-40 (B ) ;
B TR (FRRE) 207 -b 3 (£
O
18-8-40 (B ) ;
B TR (FRRE) 207 -b 3 (£
@)
18-8-40 () ;
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fE7" ny 5k 566 m2
150kg/{EAT 22 350mm VEHEH7 FEAREA R
C-40 18-8-40 (Fi4F) WEAY—ME ;

H Hi 21 m2
JESE H HAK t =10mm ;

SRy ) —) 482 m2
18-8-40 (/))& S 35cm ;

ay/))=b7" my) L CE7 uy) i) =Y 1 27,791, 112 | BRI HomtEay 2y -} 283 m

18-8-40 (F47) JEIE 30cm /& & 35cm ;

BEFT/ A 1kay)) -} 4 E10
18-8-40 (B JF) ;

BEFT/ A 1kay)) -} 1 E10
(1E®@)
18-8-40 (B JF) ;

BEFT/ A 1kay)) -} 1 E10
(I 1E@)
18-8-40 (B JF) ;

SET ny g 1, 466 m2
t=10cm & =74 (RIFE7 vyl &de) ;

H Hi 16 m2
JESE H HA t =10mm ;

Bl HT Ruiav - 303 m
18-8-40 (B JF) ;

SRy ) -} 365 m2
18-8-25 ())& S 10cm ;

PEREE R T 2 1 14, 722, 349
ST FT R 1T 2 1 3,379, 173 | JhLiEkT 27 m2

A ITyY47/40~0 $UE 0. 2m ;

BIAKY 20 m3
BAEITyYRT/ RC-40

/7Y =} 46 m3
18-8-40 (B ) ;

[5Nin] 0.05 t
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GELm)
SD345 D16~25 ;

H Hikx 5 m2
JEHE H #AR t =10mm ;

1B 12 m
FF (it ) 200 X5 ;

A 1 2
— A

25 1 =
Ry PR

LT F I HiERE T 2V 11,343,176 | FEFEHT 386 m2

A IT9Y47/40~0 BUE 0. 2m ;

BIAKY 65 m3
BAEITyvR7/ RC-40

VAR 169 m3
18-8-40 (Fi47) ;

i53i0) 0.16 t
GELm)
SD345 D16~25 ;

H HihR 18 m2
JEHE 5 #AR t =10mm ;

1AKAR 35 m
FF (it ) 200 X5 ;

P 1 2
— A

25 1 =
BEAy NRE,

FH B T =X 6,173,210
EELT = 43,515 |FRHED 1 =X

+w

HEL 1 X

HmEE 1 =K
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EhLL R T = 1 30,192 | RREFEIE 255 m2
fHEMIEL
TA7 7 M2 T = 1 2,912,123 | FIE&m (il - BEE) 1, 130 m2
BAT9v477 RC-40 1 Y JE 150mn ;
g (I - BIF ) 1,130 m2
AR EET A2y (20) &HZE/E 50mm 3. OmitH ;
TA7 7 M2 T = 1 1,103,895 | F/BIM (FEE - KT EH) 340 m2
BAT9v477 RC-40 1 Y & 150mn ;
TR s (BE - BRI 59 m2
BA)T9v47/ RC-40 {1 0 JE 150mm 1. 4mATHE
g (I - BIF ) 340 m2
AR EET A2y (20) &HZE/E 50mm 3. OmitH ;
g (I - BIF ) 59 m2
FAEBRIEET A2, (20) AHIEE 50mm 1. 4moRdi (1
J& 24 0 e B Y JE50mmPL T)
TA7 7 M2 T = 1 279,837 | F/EKM (FEE - KT EH) 93 m2
BAIT9v4TY RC-40 {1 LY & 150mm 1. 4mPh E3
.OmELF
g (I - BIF ) 93 m2
AR T A2y (20) AH%E/E 50mm 1. 4mEL £3.0
nlA T
TA7 7 M2 T = 1 33,084 | F/EMM (i - KT EH) 9 m2
BA)T9v47/ RC-40 {1 0 JE 150mm 1. 4mATHE
g (I - BIF ) 12 m2
AR T A2y (20) AH%E/E 50mm 1. 4mEL £3.0
nlA T
2y - MfiZE T = 1 6,056 | FJE KM (B 1 m2
BAIT9v477 RC-40 1 Y & 150mn ;
2 - M % 1 m2
18-8-25 (F4F) E&HiZE/E 150mm ;
AR T = 1 1,677,456 |7 VEyA BN 146 m
300X 300 ;
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FEWT IR 142 12 m
(BEAESR)
300X 300 T-25 ;
FEWr IR 12 7 m
(W)
300X 300 T-25 ;
kT = 1 40, 390 | BLIGHT SR 1 (£
500 X500 X510 18-8-25 (7 4F) ;
[LTp 2 1 46, 662 r‘ﬁﬁﬂ: hi 140 m
r‘v’ﬁﬁ%’z@) FEHE 15em JE 1. 5mm PEACHE A IE
HEE L = 1 6, 609, 931
HEYHE L T 2 1 3,722,995 |7 ny /i 1,136 m2
200kg/ 1 ;
T FIH 800 m2
HAITyv4T7 RC-40 F/E100mm ;
ERZE IR 3 m
av))-MliZERR 15emBL T
ERZE IR 150 m
TAT 7 MEEERR 15emPL T
EhAE AR AR 66 m2
/) -MaEERR AREERRIE 10cm ;
EhAE AR AR 490 m2
TAT7VMEREER Af3ERRE Bem
TR AL T = 1 2,886,936 |XiEH 7 m3
/)= (AT
o 1 25 m3
TAT 7V
By 7 m3
/)= (AT
By 25 m3
TAT 7V
L5 A 1 =
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BT wy)
R L X 1 4, 893, 840
15 IE T 2y 1 4,809, 600 |V5EBAIET2/A 1 #
AR
A R =X 1 84,240 |G R 1 ey
BT EE =X 1 85, 389, 928
B RER =X 1 7,923, 000
e TE: X 1 870, 000
B BREYGEY, (3G L) =X 1 870, 000
Hom e (RFkL) =X 1 7, 053, 000
T =X 1 93, 312, 928
B FR =X 1 24, 587, 000
N i =X 1 117, 899, 928
— R A =X 1 19, 780, 072
Tk =X 1 137, 680, 000
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